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import sys
sys.path.append("statlib")
from power import finite

finite(p, n, N, epsilon, conflevel, verbose=True)
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3.1 FEFYAXzekoHB

import sys
sys.path.append("statlib")
from power import finite



3.2

3.3

3.4

a = finite(n=None, N=100,

p=0.5,

epsilon=0.05,

conflevel=0.95)

n = 79.50929446485961

N = 100

epsilon = 0.05

conf. level = 0.95

p = 0.5
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a = finite(N=None, n=80, p=0.5,

epsilon=0.05,

conflevel=0.95)

n = 80

N = 100.77950211588806

epsilon = 0.05
conf. level = 0.95
p=20.5
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a = finite(epsilon=None, n=80,

=0.05

N=100, p=0.5, conflevel=0.95) # epsilon

n = 80
N = 100

epsilon = 0.049245948025221864

conf. level = 0.95
p = 0.5
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a = finite(conflevel=None,
conflevel=0.95

n=80,

N=100, p=0.5,

epsilon=0.05) #

n = 80
N = 100
epsilon = 0.05

conf. level = 0.9534062966288657

p = 0.5




